
&p;~ ([, )1c~ 

CALIBRATION 



/'1 (. ( .. ti. l /t/i 

CALIBRATION 

FIXTURE 
[;)~~·~ 

You'll find a complete list of the test equipment for calibrating your 
Tektronix instrument in the instruction manual received with that 
instrument. Some of the items listed are Calibration Fixtures-items 
which we have designed and made available for the sole purpose of 
assisting you to service your Tektronix instruments accurately and 
efficiently. Calibration fixtures are not described in your Tektronix 
catalog because they do not offer the wide range measurement capa­
bility of Tektronix instruments. This booklet describes calibration fix­
tures. Tektronix instrument manuals list those which we recommend 
for servicing each instrument. For prices or other information on the 
use of the fixtures, contact your Tektronix Field Office, Field Representa­
tive or Distributor. 

August 1, 1967 



CALIBRATION FIXTURES 

Copyright © 1967 by Tektronix, Inc., 
Beaverton, Oregon. Printed in the United 
States of America. All rights reserved. 
Contents of this publication may not be 
reproduced in any form without permission 
of the copyright owner-



TEKTRONIX CALIBRATION FIXTURES 

Part 

Number 

003-0007-00 

* 003-0035-00 

* 003-0036-00 

* 003-0037-00 

003-0500-00 

* 011-0022-00 

* 011-0029-00 

Description 

Alignment 

Tool Kit 

Dual Input 

Coupler 

Dual Input 

Coupler 

Dual Input 

Coupler 

Alignment 

Tool Kit 

Input 

Normalizer 

Input 

Normalizer 

Useful WITH Or 

Cal Procedure Calls FOR 

General 

With CA (Use 067-0525-00) 

and BNC Adapters) 

With G (Use 067-0525-00 and 

BNC Adapters) 

With Z (Use 067-0525-00 and 

BNC Adapters) 

General 

For CA, L, 516 (Use 067-

0533-00) 

For Z (Use 067-0534-00) 

* 011-0030-00 Input For A, B, D, G, H, M, 0, 2A60, 

Normalizer 2A63, 3A75, 502, 502A, 503, 

504, (Use 067-0535-00) 

* 011-0051-00 Input With 82 (Use 067-0536-00 and 

UHF Adapters) Normalizer 

* 011-0053-00 Input For 3A2 (Use 067-0541-00 and 

Normalizer UHF Adapters) 

* 011-0065-00 Input For 82, 86 (Use 067-0536-00) 

Normalizer 

* 011-0066-00 Input For CA, L, W, 1OA1, 3A7, 453, 

Normalizer 516, (Use 067-0538-00) 

* 011-0067-00 Input For 3A5, Z (Use 067-0539-00) 

Normalizer 

* 011-0068-00 Input For D, G, H, M, 0, 1 A7, 2A60, 
Normalizer 2A63, 3Al, 3A2, 3A3, 3A6, 

3A7 4, 3A75, 3A8, 502, 502A, 

503, 504, 9A 1, 9A2, (Use 

067-0541 -00) 

* 011-0073-00 Input For lAl, 1A2, 82, 86 (Use 067-

Normalizer 0537-00) 

012-0038-00 Plug-in Exten- For Q, R, Z, 1L20, 1 Sl, 1 S2-

012-0064-00 

01 2-0066-00 

sion Cable With any other letter-series 

or 1-series plug-in 

Plug-in Exten­

sion Cable 

Plug-in Exten­

sion Cable 

For 4Sl, 4S2, 4S2A, 4S3-With 

5Tl I 5Tl A, 5T3 

For 3A5, 3A74, 3S3, 3S76, 3T4, 

3T77, 3T77A, 9Al, 9A2-

With any other 2-series or 

3-series plug-in 

Part 

Number 

01 2-0067 -00 

01 2-0068-00 

012-0069-00 

012-0070-00 

012-0077-00 

012-0078-00 

* 012-0079-00 

Useful WITH Or 
Description Cal Procedure Calls FOR 

Circuit Card For 6Rl, 6Rl A 

Extender 

Circuit Card For 6Rl, 6Rl A 

Extender 

Circuit Card For 4Sl, 4S2, 4S2A, 4S3 

Extender 

Coax Extend- For 4Sl, 4S2, 4S2A, 4S3 

er Cable 

Circuit Card For 3S3 

Extender 

Circuit Card For 263, 3B5-With 262, 3A5 

Extender 

Circuit Card With 1A1 (Use 012-0100-00) 

Extender 

012-0080-00 Plug-in Exten- For 1OA1-With any other 10-

sion Cable series or 11-series plug-ins 

012-0100-00 Circuit Card With 1A1 

Extender 

* 013-0002-00 Plug-in 

Extender 

013-0005-00 Gain Set 

Extender 

013-0013-00 Plug-in 

Extender 

013-0015-00 Plug-in 

Extender 

(Use 013-0019-00) 

For 133, 945, 551-With any 

other 530, 540, 550-series 

main frame 

For 555 Time Base Plug-ins 

For R 

* 013-0019-00 Plug-in For L, M, S, T, Z (Use 013-
Extender 0055-00) 

013-0021-00 Timing Signal With 524D, 524AD 

Generator 

* 013-0023-00 Input Connec- (Use 016-0011-00) 

tor Adapter 

013-0025-00 Test Resistor For Q 

* 013-0026-00 Test Resistor With Q (Use 013-0078-00) 

013-0028-00 Timing Signal For N, 3T77, 3T77 A, 5Tl, 5Tl A 

v 013-0034-00 

Generator 

Plug-in 

Extender 

For 2A61, 3A3, 3A8, 381, 382, 

383, 384, 385, 3C66, 3T 4-

With any other 2-series or 

3-series plug-ins 

* 013-0046-00 Signal Switch With 180 

*Discontinued or replaced . 

CALIBRATION FIXTURES 



Tektronix Calibration Fixtures (continued) 

Part 
Number Description 

Ql 3-QQ55-Q8 Plug-in 
Extender 

Ql 3-QQ75-QQ Drive Pulse 
Inverter 

Q13-QQ77-QQ Plug-in 
Extender 

013-Q078-QQ Test Resistor 

Ql 5-QQQl -QQ L-C Delta 
Standard 

* Ql 5-QOl 3-00 Frequency 
Doubler 

015-QQ38-QO TU-5 Step 
Generator 

Ql 5-QQ42-QQ Set of Test 
Resistors 

Ql 5-Q043-QQ TU-5 Step 
Generator 
Pkg. 

* Ql 5-QQ56-QO Frequency 
Doubler 

Ql 5-QQ88-QQ Step 
Generator 

Usefu I WITH Or 

Cal Procedure Cal Is FOR 

For A, D, E, G, K, 0, 545A, 
555, 82, 86---With any other 
1-series or letter-series plug­

ins 

For 1QA1, 3A7, 422, 453, 567, 
86 (Used on TU-5 Step Gen­
erator) 

With 1 Q-series and 11-series 
plug-ins 

For Q 

For 13Q 

For 3T4 (Used on Type 18Q­
Use 184) 

For 1A1, 1QA1, 3A7, 422, 453, 
647, 82, 86 

With 175 

For 3A7, 82, 86 

For 3T 4 (Used on Type 180A­
Use 184) 

For P6Q45 Probe 

016-0011-00 Input Connec- For R 
tor Adapter 

Ql 7-QQl Q-QQ Cal Signal For N 
Adapter 

017-QQl 9-QO Timing Signal For 519 
Generator 

017-QQ31-QQ Cal Signal With Clamp-on Current Probes 

Adapter 

* Ql 7-0041-QQ Probe For PBO Probe 
Adapter 

017-Q07 4-QO Cal Signal For N 
Adapter 

* Q67-0050-QO Line Voltage With 517, 517 A, 555 (Use GR 
Control W2QMT3A) 

* Q67-QQ75-QO 5Q f2 Pi For 1 A7 (Use Q67-Q529-QQ) 

Attenuator 

* Q67-Q081-QO Mixer- For 3T 4 (Use GR 87 4-VRL) 
rectifier 

CALIBRATION FIXTURES 

Part 
Number Description 

067-Ql 14-QQ Four-input 
adapter 

Useful WITH Or 

Cal Procedure Calls FOR 

For 502A (Use Q67-0525-0Q 
and BNC Adapters)-With 

56Q, 561, 564, 565 

Q67-0500-QQ CRT Capaci- For 561 A, 567 
tance 
Normalizer 

Q67-QSQ1-QO Plug-in Exten- With 4Sl, 4S2, 4S2A, 4S3, 5Tl, 
sion Coax 5Tl A, 5T3 

Q67-Q5Q2-QQ Standard For 1 A2, 1 A6, 1 A7, 1 S2, 1QA1, 
Amplitude_ 3A 1, 3A5, 3A7, 3A8, 422, 
Calibrator 453, 502A, 529, 533A, 549, 

556, 561 A, 581 A, 585A, 82, 
86 

Q67-0503-00 Precision For W, 1OA1, 3A7 
Resistance 
Divider 

067-05Q5-00 Plug-in With 6Rl, 6Rl A 
Extender 

* 067-05Q6-00 Signal For 453 (Use Type 191) 

Generator 

067-0507-0Q Grid Current For 3A8-With 0 Unit 
Checker 

067-0508-0Q 5Q n 
Amplitude 
Calibrator 

For 1 Sl, 1 S2, 4S2, 4S2A-With 
any scope or vertical chan­
nel having 50-ohm input 

067-Q511-0Q Coax Signal For 1 Sl, 5T3-With any scope 
Attenuator or plug-in having 50-ohm 

inputs 

Q67-0513-QO Fast-step For 1 Sl, 1 S2, 4S2, 4S2A-With 
Generator any sampling scope vertical 

channels 

Q67-Q514-QQ 10 V RMS 
Voltmeter 

067-0515-00 Precision 
50-ohm 
Resistor 

067-0517-00 Double 
Trigger 
Mod Kit 

067-0518-00 Harmonic 
Modulator 

067-0521-00 Test Plug-in 

*Discontinued or replaced. 

With 517, 517 A, 555 

For 561 A, 556---With scopes 
having calibrator signals 

from 50-ohm source 

With any sampling scope 
(Modifies Type 111 Pulse 

Generator) 

For 1L10, 1 L20, 3L 10-With 
other Spectrum Analyzers 

For 533A, 549, 556, 81-With 

other 530, 540, and 550-
series scopes 



Tektronix Calibration Fixtures (continued) 

Part 

Number Description 

067-0523-00 Test Plug-in 

067-0525-00 Dual Input 

Coupler 

067-0529-00 Precision 

Resistance 

Divider 

067-0530-00 Connector 

Adapter 

Cable 

067-0531-00 Connector 

Adapter 

Cable 

067-0532-00 Sine Wave 

Generator 

067-0533-00 Input 

Normalizer 

067-0534-00 Input 

Normalizer 

Usefu I WITH Or 

Cal Procedure Calls FOR 

For 581A, 585A-With 581, 

585 

For CA, 1A2, 1A6, 1A7, 3Al, 

3A7, 453-With most other 

differential-input scopes and 

plug-in units 

With 1 A7, 122, 2A61 (Used 

with 067-0502-00) 

With E, 122 

With 2A61 

For 10A2A, 647A, 454-With 

scopes having band-width 

from 65 MHz to 500 MHz 

For CA, L, 516 

For Z 

067-0535-00 Input For A, B, D, G, H, M, 0, 
Normalizer 2A60, 2A63, 3A75, 502, 

502A, 503, 504 

067-0536-00 Input For 82, 86 

Normalizer 

067-0537-00 Input For 1A1, 1 A2, 82, 86 

Normalizer 

Part Useful WITH Or 

Number Description Cal Procedure Calls FOR 

067-0538-00 Input For CA, L, W, 1 OA l, 3A7, 453, 

Normalizer 516 

067-0539-00 Input For 3A5, Z 

Normalizer 

067-0540-00 Input For 1 A6 

Normalizer 

067-0541-00 Input For D, G, H, M, 0, 1 A7, 2A60, 

Normalizer 2A63, 3A 1, 3A2, 3A3, 3A6, 

3A7 4, 3A75, 3A8, 502, 502A, 

503, 504, 9A 1, 9A2 

067-0544-00 Test Plug-in For 647A-With 647 

* TU-1 Test Unit General (Use 067-0521-00) 

* TU-2 Test Unit General (Use 067-0521-00) 

* TU-3 Test Unit General (Use 067-0523-00) 

* TU-4 Test Unit General (Use typical 2-series 

or 3-series plug-in units) 

* TU-5 Test Unit Same as 015-0038-00 and 015-

* TU-6 Test Unit 

* TU-7 Test Unit 

* TU-50 Test Unit 

* TU-76 Test Unit 

* TU-77 Test Unit 

*Discontinued or replaced. 

0043-00 

General (Use 067-0521-00) 

General (Use 067-0521-00) 

General (Use Types 106, 191, 

and 184) 

General (Use General Radio 

WlOMT3W) 

General (Use General Radio 

W20MT3A) 

CALIBRATION FIXTURES 



ALIGNMENT TOOL KITS 
ALIGNMENT TOOL KIT-003-0500-00 

003-0001-00 

I 

003-0047-00 

003-0000-00 003-0521-00 

• 

003-0004-00 

003-0003-00 

003-0301-00 

ALIGNMENT TOOL KIT-003-0007-00 

003-0305-00 003-0304-00 

003-0310-00 

003-0307-00 

I 003-0308-00 

003-0334-00 

CALIBRATION FIXTURES 



Tektronix, Inc. 

TOOL: 1-1/2 inch shaft: 
5 inches total 
length, plastic 
shaft and handle, 
metal screwdriver 
tip. 

ALIGNMENT TOOLS 

TOOL: 7 inch shaft: 10-1/2 inches total length, plastic shaft 
and handle, metal screwdriver tip. 

TOOL: 6 inches long by 3/8 inch diameter, nylon, with 
screwdriver shaped ends. 

TOOL: 3 inch plastic shaft and handles, metal screwdriver 
tip, 6-1/2 inches total length. 

TOOL: 4-3/8 inches long by 1/4 
inch diameter shaft with 
metal screwdriver tip 
and knob for handle, for 
tuning 517 vertical 
trimmers. 

TOOL: 4-1/4 inches long by 
5/8 inch diameter, with 
screwdriver handle. 
For ERIE 557 ceramic 
capacitors 

003-0000-00 

003-0001-00 

003-0008-00 

003-0047-00 

003-0374-00 

003-0521-00 

CALIBRATION FIXTURES 



ALIGNMENT TOOLS 
T ektron ix, Inc. 

HANDLE: Uses 003-0304-00 insert. 

HANDLE: Nylon, uses 003-0008-00, 
003-0010-00 and 
003-0334-00 inserts. 

INSERT: Low capacity nylon with wire 
pin, 7-3/4 inches long when 
inserted into handles for 551 
right hand delay line. Re­
quires 003-0305-00 handle . 

INSERT: For turret attenuators, requires 
003-0307-00 handle. 

INSERT: 0.077 inch outside diameter, 
use with 003-0007-00 handle, 
for 5/64 inch inside diameter 
hex cores. 

INSERT: Nylon, use with 
003-0307-00 handle, 
for turret attenu­
ator. 

--· 

ROD: 7 inches long, plastic rod with recessed metal 
screwdriver tips, one end for #4 studs and the 
other end for #6 studs. Walsco # 2519 or equal. 

ROD: 7-1/2 inches long, plastic rod with 1/4 inch hex 
socket at each end. Walsco #2503 or equal. 

ROD: 5 inches long. 
plastic, for 
0.100 inch inside 
diameter powdered 
iron hex slugs. 

CALIBRATION FIXTURES 

---~----·T·-----

003-0305-00 

003-0307-00 

003-0304-00 

003-0308-00 

003-0310-00 

003-0334-00 

003-0003-00 

.. ..... 

003-0004-00 

003-0301-00 



REF. 

NO. 

PLUG-IN EXTENSION CABLE 
(Part No. 012-0038-00) 

©>------
2 -------

SERIAL MODEL NO. a 
T 

PART NO. EFF. DISC. Y. DESCRIPTION 

1. 213-0082-00 
2. 131-0018-00 

4 
1 
2 

SCREW, thread cuttbg, 4-40 x 1/2 ~nc h PHS philips 
CONNECTOR, female, 16 contact 

3. 202-0066-00 
4. 175-0236-00 
5. 131- 0017-00 

343-0087-00 

BOX, plug in extension cable 
FT CABLE ASSEMBLY { 2. 7 3 ft .) 
1 CONNECTOR, male, 16 con t a ct 
2 CLAMP, cable (not shown) 

PUBLICATION NO. 

061-0724-00 
August 1965 

(Revised) 

©, 1963, T ektronix, Inc., 
All rights reserved. 

CALIBRATION FIXTURES 



PLUG-IN TEST CABLE 
(Part No. 012-0064-00) 

- - - - - - --1 

LATE MODEL 
I I I _______ j 

REF. SERIAL MODEL NO. a 
NO. 

T 
PART NO. EFF. DISC. Y. 

1 213-0082-00 4 
2 131-0149-00 1 

3 200-0453-00 1 
4 175-0245-00 l 

5 200-0478-00 1 

6 131-0148-00 1 

343-0091-00 2 

CALIBRATION FIXTURES 

DESCRIPTION 

SCREW, thread cutting, 4-40 x 1/2" phillips PH 
CONNECTOR, chassis mt. 24 
contact, male 

COVER, plug-in ext., male 
CABLE, for plug-in extension 

.520 dia. vinyl jacket 
w/(4) #18, (7) #22, (7) 
50 coax. 

COVER, plug-in extension, 3.207 
x 1-5/8, female 

CONNECTOR, chassis mt. 24 con-
tact, female 

CLAMP, strain relief, (not 
shown) 



REF. 

NO. PART NO. 

1 213 - 0082-00 

2 131-0149-00 

3 200-0454-00 
4 175 -- 0246-00 
5 200-0478-00 

6 131-0148-00 

343-0091-00 

PLUG-IN EXTENSION CABLE 
(Part No. 012- 0066-00) 

3 4 

SERIAL MODEL NO. Q 

T 

5 

EFF. DISC. Y. DESCRIPTION 

4 

1 

1 
FT 
1 

1 

2 

SCREW, thread cutting, 4-40 x 
1/2 i n . Phillips PH 

CONNECTOR, chassis mt. 24 
contact, male 

COVER, plug-in extension 
CABLE (32 in.) 
COVER, plug-in extension 

cable, 3.207 x 1-5/8 
female 

CONNECTOR, chassis mt. 24 
contact, female 

CLAMP, strain relie f (not 
shown) 

~ 
~ 

® 

6 

PUBLICATION NO. 

061-0748-00 
August 1965 

(Revised) 

©, 1963, Tektronix, lnc., 
A ll r ig h ts rese rved . 

CALIBRATION FIXTURES 



15 PIN PLUG-IN EXTENSION BOARD 
(Part No. 012-0067-00) 

CD . ~ . 
II 1r ::= 

·= • ~ 
I 

~ 

0 
CD .~ 

© 

© 
(j) 

© 

REF. SERIAL MODEL NO. Q 

T 
Y. NO. PART NO. EFF. 

1 214-0279-00 
2 166-0024-00 
3 210-0004-00 
4 210-0406-00 
5 388-0524-00 

131-0207-00 
6 211-0008-00 

7 406-0855-00 
8 131-0248-00 

CALIBRATION FIXTURES 

DISC. 

2 PIN, locating 
2 TUBE, spacer 
4 LOCKWASHER, internal #4 

DESCRIPTION 

4 NUT, hex, 4-40 x 3/16 inch 
1 BOARD, etched circuit 

Includes: 
15 CONNECTOR, contact 
2 SCREW, 4-40 x 1/4 inch PHS 

phillips 
1 BRACKET, extension board 
1 CONNECTOR, 15 pin 

PUBLICATION NO. 

061-0749-00 
August 1965 

(Revised) 

©, 1963, Tektronix, Inc., 
All rights reserved. 



20 PIN PLUG-IN EXTENSION BOARD 
(Part No. 012-0068-00) 

'---------& 

lfhiil>-• ~-.-_ --0) 
~J <0,' 

~i:··lk!iai•m•am;!!:l• :1mas•r11·····11· 11··11-... 1111 ... m .. ----~© 

~i-----~~ t1111 ~............._'U -----0 

l 
SERIAL MODEL NO. a 

T 
REF. 

NO. PART NO. EFF. DISC. v. DESCRIPTION 

1 214-0279-00 
2 166-0024-00 
3 406-0859-00 
4 210-0004-00 
5 210- 0406- 00 
6 388-0525-00 

131-0207-00 
7 211-0008-00 

8 406-0854-00 
9 131-0247-00 

2 
2 
2 
4 
4 
1 

0 
2 

1 
1 

PIN, locating 
TUBE, spacer 
BRACKET, hold down connector 
LOCKWASHER, internal 1!4 
NUT, hex, 4-40 x 3/16 inch 
BOARD, etched circuit 

Includes: 
CONNECTOR, contact 

SCREW, 4-40 x 1/4 inch PHS 
phillips 

BRACKET, extension board 
CONNECTOR, 20 pin 

PUBLICATION NO. 

061-0750-00 
August 1965 

(Revised) 

©, 1963, T ektronix, Inc., 
All rights reserved. 

CALIBRATION FIXTURES 



PLUG-IN EXTENSION 
(Part No. 012-0069-00) 

---© 

REF. SERIAL MODEL NO. Q 

NO. PART NO. EFF. DISC. 

1 131-0246-00 
2 388-0526-00 
3 211- 0016-00 

4 210-0004- 00 
5 210-0406-00 
6 387-0715-00 
7 406- 0858-00 
8 352-0039-00 
9 211-0012-00 

10 131- 0218- 00 
11 384-0593- 00 

CALIBRATION FIXTURES 

T 
Y. 

1 
1 
4 

4 
2 
1 
2 
2 
4 

1 
2 

DESCRIPTION 

CONNECTOR, 22 pin 
BOARD, etched circuit 
SCREW, 4-40 x 5/8 inch PHS 

phi lips 
LOCKWASHER, i nternal 1!4 
NUT, hex, 4-40 x 3/16 inch 
PLATE, connec tor 
BRACKET, connec tor mount i ng 
HOLDER, plug i n chassis 
SCREW, 4-40 x 3/8 i nch PHS 

phillips 
CONNECTOR, 22 contact 
ROD, pin index, nylon 

PUBLICATION NO. 

061-0751-00 
August 1965 

(Revised) 

©, 1963, Tektronix, Inc., 
All rights reserved. 



PLUG-IN EXTENSION 
(Part No. 012-0070-00) 

SERIAL MODEL NO. o 
T 

REF. 

NO. PART NO. EFF. DISC. v. DESCRIPTION 

1 131- 0222-00 

2 175-0300-00 
3 131-0221-00 

1 CONNECTOR, push on, bulkhead 
plug 

FT CABLE ( 32") coax. , 50 ohm 
1 CONNECTOR, push on, bulkhead 

Jack 
PUBLICATION NO. 

061-0752-00 
August 1965 

(Revised) 

~ Copyright© 1963, 
~ 1964, Tektronix, Inc. 

• All Rights Reserved. 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

1 210-0586-00 
2 210-0851-00 
3 211-0016-00 

4 214-0180-00 
5 388-0570-00 
6 211-0008-00 

7 131-0246-00 
8 211-0014-00 

9 406-0952-00 
10 131-0218-00 

ETCHED CKT. BOARD EXTENSION (353) 
(Part No. 012-0077-00) 

3 4 5 ! , r I 11 ~ i //;; ; 

~ II I 
'~ 

l 
SERIAL MODEL NO. Q 

T 
EFF. DISC. Y. DESCRIPTION 

6 NUT, keps, 4-40 x 1/4 inch 
2 WASHER, .119 ID x 3/8 inch OD 
2 SCREW, 4-40 x 5/8 inch, RHS 

phillips 
2 PIN, roll, 3/32 x 1/2 inch PUBLICATION NO. 
1 BOARD, etched circuit 
2 SCREW, 4-40 x 1/4 inch, PHS 062-0054-00 

phillips August 1965 
1 CONNECTOR, 22 pin (Revised} 
2 SCREW, 4-40 x 1/2 inch, PHS 

phillips 
1 BRACKET, plug-in extension a 1 CONNECTOR, 22 contact © 1963, Tektronix, Inc ., 

All rights reserved. 
® 

CALIBRATION FIXTURES 



ETCHED CIRCUIT CARD ASSEMBLY 
(Part No. 012-0078-00) 

ATTENTION~ 

Early card extenders which do not have index notches cut into 
one end will not work with all newer instruments. To make the 
early extenders compatible, notches should be cut in the right 
places rather then removing the indexing guides from the card 
sockets in any instrument. 

REF. SERIAL MODEL NO. a 
T 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 388-0568-00 -EARLY- 1 
2 388-0568-00 -LATE- 1 
3 131-0292-00 1 

OOARD, etched 
OOARD, etched 
CONNECTOR, 28 

circuit, extension 
circuit, extension 
pin contact 

DATA SHEET NO. 
062-0042-00 

November 1966 
(Revised) 

~ 
~ 

@' 

©. 1963, Tektronix, Inc. , 
A 11 rights reserved. 

CALIBRATION FIXTURES 



PLUG-IN TEST CABLE 
(Part No. 012-0080-00) 

REF. SERIAL MODEL NO. Q 

NO. T 
PART NO. EFF. DISC. Y. DESCRIPTION 

1 00-0551-00 1 COVER, plug-in extension, female 
2 13-0082-00 4 SCREW, thread cutting, 4-40 x 

1/2 inch, phillips 
3 131-0097-00 1 CONNECTOR, chassis mount, 32 

contact, female 
4 175-0287-00 FT CABLE, assembly, coax., 32 

inches 
5 131-0096-00 1 CONNECTOR, chassis mount, 32 

contact, male 
6 00-0549-00 1 COVER, plug-in extension 

43-0109-00 2 CLAMP, cable (not shown) 

@l 

CALIBRATION FIXTURES 

PUBLICATION NO. 

062-0091-00 
August 1965 

(Revised) 

©, 1964, Tektronix, Inc., 
All rights reserved . 



ETCHED CKT BOARD EXTENSION 
(Part No. 01 2-01 00-00) 

SERIAL MODEL NO. o 
T 

CD 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 214-0506-00 
2 136-0156-00 
3 388-0575-00 
4 210-0696-00 

10 PIN, connector, straight 
1 SOCKET, 44 pin 
1 BOARD, etched circuit 
4 EYELET 

FOR REPLACEMENT PARTS 
NOT LISTED CONTACT YOUR 
TEKTRONIX FIELD OFFICE. 

DATA SHEET NO. 
062-0544-00 

DECEMBER 1965 

~ 
·~ 

Copyright © 1965, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



I 

I 

EARLY 

1_ - - - - - - - - -

GAIN ADJUST ADAPTER 
(Part No. 013-0005-00) 

5 

REF. SERIAL/MODEL NO. Q 

NO. PART NO. EFF. DISC. 

1 200-0430-00 
2 285-0526-00 

302-0224-00 
3 131-0017-00 

4 136-0052-00 
210-0223-00 
210-0904-00 

5 213-0119-00 

6 131-0018-00 

7 200-0428-00 

CALIBRATION FIXTURES 

T 
Y. 

1 
2 

1 
1 

1 
1 
1 
4 

1 

1 

DESCRIPTION 

COVER, plug-in extension 
CAPACITOR, mt •• 1 µfd, 400 v 

20% 
RESISTOR, comp. 1/2 w, 220 k 10% 
CONNECTOR, chassis mt. plug-ins, 16 conta 

16 contact, male 
SOCKET, banana jack, black 
LUG, solder 
WASHER, fiber 
SCREW, thread forming, 4-24 

x 3/8, Pan HS 
CONNECTOR, chassis mt. scope, 

16 contact, female 
COVER, plug-in extension 

M1 
® 

PUBLICATION NO. 

061-0800-00 
August 1965 

(Revised) 

©, 1963, Tektronix, T nc ., 
All rights rescn-ed. 



REF. 

NO. 

1 

2 

3 
4 

TIME 
(Part 

SERIAL MODEL NO. a 
T 

2 

PART NO. EFF. DISC. v. 

213-0119-00 4 

131-0096-00 1 

200-0433-00 2 
131-0097-00 1 

BASE EXTENSION 
No. 013-0013-00) 

1- - - - - - - - - I 
I I 

LATE 

I -------

DESCRIPTION 

SCREW, thread forming, 
4-24 x 3/8 Pan HS 

CO"NNECTOR, chassis mt. , 32 
contact, male 

COVER, plug-in extension 
CONNECTOR, chassis mt., 

32 contact, female 

---© 

CALIBRATION FIXTURES 



PLUG-IN EXTENSION 
(Part No. 013-0015-00) 

REF. SERIAL MODEL NO. Q 

NO. PART NO. EFF. DISC. 

1 131-0017-00 

2 213-0119-00 

3 200-0431-00 
4 131-0018-00 

CALIBRATION FIXTURES 

T 
Y. 

1 

4 

2 
1 

DESCRIPTION 

CONNECTOR, chassis mt., 16 
contact, male 

SCREW, thread forming·, 4-24 x 
3/8, pan HS 

COVER 
CONNECTOR, chassis mt., 16 

contact, female 

PUBLICATION NO. 

061-0809-00 
August 1965 

(Revised) 

~ ©. 1963, Tektronix, Inc., 
~ A ll rights reserved. 
.. @ ' 



REF. 

NO. 

TIME MARK CALIBRATOR 
(Part No. 013-0021-00) 

SERIAL MODEL NO. o 
T 

Accuracy tolerance at room 
0 0 temperature (25 c ±5 c), 

0.05%. 

PART NO. EFF. DISC. v. DESCRIPTION 

013-0021-00 A Time-markCalilrrator for testing or adjusting 
intensity markers on the Type 524D and 524AD Oscilloscopes 

CALIBRATION FIXTURES 



120 OHM PLUG-IN RESISTOR BOARD 
<Part No. 013-0025-00) 

SERIAL MODEL NO. a 
T 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 392-0124-00 
2 310-0561-00 

CALIBRATION FIXTURES 

1 BOARD, resistor 
1 RESISTOR, 120 n. 1/2 W, Pree., 

±1% 

DATA SHEET NO. 
061-0770-00 

DECEMBER 1965 

(Revised) 

©. 1963, Tektronix, Inc., 
All rights reserved. 



REF. 

NO. PART NO. 

1 200-0308-00 
------
211-0038-00 

2 380-0026-00 
3 384-0586-00 
4 333-0674-00 
5 200-0309-00 

348-0037-00 
211-0012-00 

6 211-0071-00 
7 366-0117-00 

------
213-0004-00 

8 334-0679-00 

TIMING STANDARD 
(Part No. 013-0028-00) 

The Timing Standard provides 
damped-wave oscillations of 10, 
5, 2, and 1 nanoseconds per cycle 
for checking the sweep rates of 
fast sweep oscilloscopes such as 
Sampling Timing Units. Accuracy 
of the unit is within 3%. 

SERIAL/MODEL NO. o 
T 

EFF. DISC. Y. 

1 COVER, front 

DESCRIPTION 

- mounting hardware: (not included w/cover) 
2 SCREW, 4-40 x 5/16 inch, 100° csk, FHS 

1 HOUSING, wrap-around 
2 ROD, spacer 
1 PANEL, front 
1 COVER, box 
4 FOOT, rubber 
4 SCREW, 4-40 x 3/8 inch, PHS 
4 SCREW, 4-40 x 3/8 inch, PHS 
1 KNOB, charcoal 

knob includes: 
1 SCREW, set, 6-32 x 3/16 inch, HSS 

DATA SHEET NO. 

061-0857-00 
JUNE 1967 

(Revised) 
1 TAG, metal serial number !:::::::::=========I 

FOR REPLACEMENT PARTS NOT LISTED 
CONTACT YOUR TEKTRONIX FIELD OFFICE. 

Copyright © 1963, 
1964, Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



PLUG-IN EXTENSION 
(Part No. 013-0034-00) 

SERIAL MODEL NO. o 
T 

REF. 

NO. PART NO. EFF. DISC. v. DESCRIPTION 

l 131-0148-0 

2 213-0119-0 

3 131-0149-0 

4 200-0434-0 

CALIBRATION FIXTURES 

1 CONNECTOR, chassis mt., 24 
contact, female 

4 SCREW, thread forming, 
4-24 x 3/8 Pan HS 

1 CONNECTOR, chassis mt., 24 
contact, male 

2 COVER, plug-in extension 

PUBLICATION NO. 

061-0861-00 
August 1965 

(Revised) 

©, 1963, Tektronix, Inc., 
All rights reserved. 



REF. 

NO. PART NO. 

1 213-0119-00 

2 200-0432-00 
3 175-0055-00 

4 131-0017-00 
5 283-0000-00 

6 131-0018-00 

PLUG-IN EXTENSION 
(Part No. 013-0055-00) 

.- - - - - - - -, 
I 

LATE 

SERIAL MODEL NO. 0 
T 

EFF. DISC. Y. DESCRIPTION 

4 SCREW, thread forming, 4-24 x 
3/8 inch, PHS, phillips 

2 COVER, plug-in extension 
5 CABLE, coaxial, 93 n, w/jacket, 

5-3/4 inch 
1 CONNECTOR, 16 contact, male 
2 CAPACITOR, 0.001 µF, disc 

type, 500 v 
1 CONNECTOR, 16 contact, female 

CALIBRATION FIXTURES 



TU-5/105 ADAPTER 
(Part No. 013-0075-00) 

TU-5/105 ADAPTER 

............ 105 TU-5 ........... 

TEKTRONIX, INC. 013-075 

The Tektronix TU-5/105 Adapter allows the Tektronix Type 
105 Square-Wave Generator to drive the TU-5 Pulser. The 
TU-5 requires an input signal which is always above ground. 
The Adapter shifts the Type 105 output level from below 
ground to above ground. The TU-5 can be used at any 
frequency within the limits of the Type 1.05, above 1 kc. The 
higher output frequencies provide a brighter crt display 
when fast sweep rates are used. 

From~ Type 
105 

Cl 
5 µf 

Dl 
6061 

+ 

Circuit Description 

Capacitor Cl removes the de component from the Type 
105 output waveform. Diode D2 clamps the waveform so 
that only a positive output waveform appears at the adapter 
output. Diode Dl provides reverse-polarity voltage protec­
tion for capacitor Cl. 

02 
6061 

:o) To .:I:. TU-5 

Schematic of TU-51105 Adapter 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

1 200-0545-00 
- - - - - -
213-0119-00 

2 131-0096-00 

3 175-0284-00 
------

4 131-0097-00 
------

5 175-0055-00 
------

PLUG-IN EXTENSION 
<PART NO. 013-0077-00) 

SERIAL MODEL NO. a 
T 

EFF. DISC. Y. 

2 

4 
1 

Ft. 

1 

Ft. 

DESCRIPTION 

COVER, plug-in extension 
Mounting Hardware: (not included) 
SCREW, 4-24 x 3/8 inch, phillips, pan head 

CONNECTOR, chassis mount, 
32 contact, male 

CABLE, coax., 50 n, 26.S pf/ft., 
9 inches 

CONNECTOR, chassis mount, 
32 contact, female 

CABLE, coax., 93n w/jacket, 
9 inches 

a 
® 

PUBLICATION NO. 

062-0048-00 

AUGUST 1965 
(Revised) 

©. 1963, Tektronix, Inc., 
A ll ri g ht s rese rved. 

CALIBRATION FIXTURES 



PLUG-IN RESISTOR BOARD 
(Part No. 013-0078-00) 

SERIAL MODEL NO. o 
T 

i 

• 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 392-0124-00 
2 323-0649-00 

CALIBRATION FIXTURES 

1 BOARD, resistor 
1 RESISTOR, 150 k, 1/2 W, p rec., 

±1% 

DATA SHEET NO. 
061-0967-00 

DECEMBER 1965 

(Revised) 

;(\t~(:"' © . 1963. Tc kt ronix. 1 nc.. 
'f·~'l\IV , .'\ 11 riglih rc~cn· cd . 

® 



REF. 

NO. PART NO. 

1 131-0012-00 
131-0146-00 
210-0004-00 
210-0406-00 
211-0008-00 
131-0168-00 
210-0012-00 
210-0413-00 
200-0026-00 
102-0006-00 
358-0153-00 

2 386-0344-00 
200-0309-00 
348-0037-00 
211-0012-00 

3 437-0017-00 
380-0028-00 

4 366-0028-00 
366-0117-00 
------
213-0004-00 

5 333-0117-00 
211-0504-00 

333-0681-00 
334-0679-00 
211-0071-00 

6 386-0343-00 
211-0502-00 

200-0331-00 

DELTA STANDARD 
(Part No. 015-0001-00) 

The Delta Standard provides accurate steps of 
capacitance and inductance for adjusting the Type 
130 L-C Meter. Accuracy of the unit is within 1% . 

• 

I. 
1 

ct 
SERIAL/MODEL NO. Q 

T 
EFF. DISC. Y. DESCRIPTION 

MDL 1 MDL 1 1 CONNECTOR, chassis mount, female 
MDL 1 MDL 1 1 CONNECTOR, coax. assembly 
MDL 1 MDL 1 4 LOCKWASHER, internal #4 
MDL 1 MDL 1 4 NUT, hex, 4-40 x 3/16 inch 
MDL 1 MDL 1 4 SCREW, 4-40 x 1/4 inch PHS phillips 
MDL 2 1 CONNECTOR, cable end 
MDL 2 1 LOCKWASHER, internal 3/8 x 1/2 inch 
MDL 2 1 NUT, hex, 3/8-32 x 1/2 inch 

1 COVER, coax. connector 
1 REDUCER, 1 inch long 
1 BUSHING, insulator 

MDL 1 MDL 1 1 PI.ATE 
MDL 2 1 COVER, box 
MDL 2 4 FOOT, rubber 
MDL 2 4 SCREW, 4-40 x 3/8 inch FOR REPLACEMENT PARTS 

PHS phillips NOT LISTED CONTACT YOUR 
MDL 1 MDL 1 1 CABINET TEKTRONIX FIELD OFFICE. 
MDL 2 1 HOUSING, wrap-around 
MDL 1 MDL 1 1 KNOB, black 
MDL 2 1 KNOB, charcoal 

Includes: 
1 SCREW, set, 6-32 x 3/16 

inch 
MDL 1 MDL 1 1 PANEL, front 
MDL 1 MDL 1 4 SCREW, 6-32 x 1/4 inch PUBLICATION NO. 

PHS phi llips 
MDL 2 1 PANEL, front 061-0908-00 
MDL 2 1 TAG, metal serial number August 1965 
MDL 2 4 SCREW, 4-40 x 3/8 inch (Revised} 

PHS phillips 
MDL 1 MDL 1 1 PLATE, subpanel 
MDL 1 MDL 1 6 SCREW, 6-32 x 3/16 inch 

FHS 100° Ml ©, 1964, Tektronix, Inc., 
MDL 2 1 COVER All rights reserved. 

CALIBRATION FIXTURES 



TU-5 PULSER 
Tektronix Part No. 015-038 

General Information 

The TU-5 is a tunnel-diode which provides a fast-rise 
pulse for adjusting the transient response of high-frequency 
plug-in units such as the Tektronix Types 82 and 86. 

The TU-5 must be driven by a + 100-volt square pulse 
such as the 1-kc amplitude calibrator signal available from 
most Tektronix oscilloscopes. (The amplitude calibrator in 
the Type 560-Series, Type 647, and Type RM647 Oscillo­
scopes will not switch the TU-5.) A Tektronix Type 105 
Square-Wave Generator may be used to drive the TU-5 
if an adapter (see Fig. 1) is used. The adapter converts 
the negative pulse output from the Type 105 to the posi­
tive pulse required to drive the TU-5. The Type 105 should 
be used only at repetition rates of 1 kc and higher. Higher 
repetition rates will provide a brighter crt display when 
fast sweep rates are used. 

From~ Type 
105 

1 to 5 µf 
125 v 

+ 

equivalent 

Fig. 1. Adapter for using a Type 105 to drive a TU-5 . 

Characteristics 

-0) To 
):::' TU-5 

Output Signal Risetime: 1.5 nanoseconds or less into 
50 ohms. 

Output Voltage: At least 200 millivolts into 50 ohms. 

Input Voltage Required: + 100-volt square wave capa­
ble of supplying 10 milliamps. 

Connecting the TU-5 to the Plug-In Unit 

Whenever possible, use the connection method shown in 
Fig. 2. Connect the termination as close as possible to 
the input of the plug-in to reduce undesirable reac­
tances and provide a clean step-function at the input to 
the plug-in unit. 

Turn off the oscilloscope Amplitude Calibrator while 
connecting the TU-5 to or disconnecting the TU-5 from the 
BNC cable. The 100 volts from the calibrator could cause 
a slight shock. 

Setting the TU-5 Bias 

The knob on the TU-5 sets the bias on the tunnel diode. 
The bias should be set each time the TU-5 is used. Set 
the bias as follows: 

1. With the TU-5 and termination connected as shown 
in Fig. 2, set the bias control fully counterclockwise and the 
oscilloscope Amplitude Calibrator for a 100-volt output. 

2. Set the oscilloscope vertical sensitivity at 0.1 volts/ div. 
and the sweep rate at 0.2 millisecond/div. 

CALIBRATION FIXTURES 

Termination 
011-049 

Oscilloscope 
Input 

NOTE 
If 1 OX attenuator is 
used, insert between 
TU-5 and Termination. 

TU-5 

Fig. 2. Proper connection of the TU-5 and Termination to the 
oscilloscope Input and Calibrator. 

3. Set the time-base triggering controls for a stable dis­
play. With the bias control set fully counterclockwise, the 
tunnel diode will not switch due to insufficient current. 
However, there will be about a 50-mv waveform on the crt. 
This is the calibrator signal feeding through the TU-5 and 
not the fast-rise output signal that occurs when the tunnel 
diode is switching. 

4. Slowly turn the bias control clockwise until the wave­
form amplitude suddenly increases to about 2 divisions 
(see Fig. 3). This point is the proper bias setting. 

Output Waveforms 

Figs. 3 and 4 show typical output signals from the TU-5 
at various sweep rates. The small intensified portion at 
the base of each pulse shown in Fig. 3 is the relatively 
slow rising portion of the calibrator signal just before the 
tunnel diode switches. 

II 

1111 
II II ....n .... - ii 

.. = 
::. 
i!I 
i!I 

Fig. 3. Sweep rate 0.2 millisecond/ div. 

::::i 
::::i 
::::i 

-== 
-== 
-== mm ~ 1::::11 ..... ...... ... -== 

... ..... ..... 
-== ::::i 

::::i 

-== ::::i 
.::: 

== 

Fig. 4. Sweep rate 20 nanoseconds/div. 



Type TU-5 

PARTS LIST 

® 

REF. PART SERIAL NO. Q 

NO. NO. 
T DESCRIPTION 

EFF. DISC. Y. 

131-126 l Connector, coax, chassis mt. 
210-962 l Washer, bevel, grey 

2 213-075 2 Screw, set 4-40 x 3/ 32 inch 
3 301-392 l Resistor, 3.9 K, 1/ 2 W, 5% 
4 311-443 1 Resistor, 2500 n var. 20% 
5 152-102 1 Diode, tunnel, STD 615 10 ma 
6 301-332 1 Resistor, 3.3 K 1/ 2 W, 5% 
7 132-081 1 Nut 
8 166-217 1 Tube, spacer, insulator 
9 214-109 1 Pin, probe contact, male 

10 358-072 1 Bushing, insulator 
11 134-044 1 Plug, probe 
12 202-095 1 Box, standardizer 
13 366-203 1 Knob, gray 

Includes: 
213-004 1 Screw, set, 6-32 x 3/ 16 inch HHS 
210-046 1 Lockwasher, internal tooth 
210-583 1 Nut, hex, 5/ 16 inch brass 1/ 4 -32 

14 213-035 2 Screw, 4-40 x 1/ 4 inch PHS 
15 200-427 1 Cover, pulser box 

rt 16 316-470 1 Resistor, 47 n, 1/ 4 W, 10% 
17 210-223 1 Lug, solder (not shown) 

CALIBRATION FIXTURES 



175 CALIBRATION RESISTORS 
(Part No. 015-0042-00) 

SERIAL MODEL NO. a 
T 

4 

------40 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 312-0636-00 
2 312-0638-00 
3 312-0637-00 
4 312-0639-00 

CALIBRATION FIXTURES 

1 RESISTOR, checked, 0.005 n, 100 W, 0.05 n, 50 W, ±1% 
1 RESISTOR, checked, 10 n, 20 W, ±1% 
1 RESISTOR, checked, 2 n, 50 W, ±1% 
1 RESISTOR, checked, 100 n, 2 w, ±1% T 

DATA SHEET NO. 

061-0960-00 
JUNE 1967 

a 
® 

(Revised) 

©, 1963, Tektronix, Inc., 
All rights reserved. 



CD--

CD--

CD.....----

TU-5 PULSER AND ACCESSORIES 
(Part No. 015-0043-00) 

SERIAL MODEL NO. a 
T 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 012-0057-01 
2 015-0038-00 
3 011-0059-00 
4 011-0049-00 
5 103-0015-00 

1 CABLE, assembly, 50 n coaxial 
1 TU-3 TlJNNEL DIODE PULSER 
1 50 OHM lOX A'ITENUATOR (BNC) 
1 50 OHM TERMINATION 
1 ADAPTER, probe, BNC to UHF 

DATA SHEET NO. 
FOR REPLACEABLE PARTS 
SEE RESPECTIVE PART NUMBERS 061-0786-00 

MARCH 1967 
(Revised) 

©, 1964, Tektronix, Inc., 
All rights reserved. 

CALIBRATION FIXTURES 



', 

Probe Pulser 

PROBE PULSER 
Tektronix Part No. 01 5-0088-00 

General Information 

The Probe Pulser incorporates a tunnel diode which pro­
vides a fast-rise pulse for checking transient response and 
risetime of Tektronix high-frequency miniature-tip probes, 
such as the P6045 FET Probe. 

The Pulser must be driven by a + 100-volt square-wave 
pulse, such at the 1-kHz amplitude calibrator signal avail­
able from most Tektronix oscilloscopes. (The amplitude cali­
brators in the 560-Series and 640-Series Oscilloscopes and 
in the Tektronix 067-0502-00 Standard Amplitude Calibrator 
will not switch the Pulser.) 

Characteristics 

Output Impedance: ;:::::25 n. 

Output Signal Risetime: 0.5 ns or less. 

Output Signal Amplitude: At least 260 mV. 

Input Signal Required: + 100-volt square wave capable of 
supplying 10 mA. 

Adiusting Bias 

The bias on the tunnel diode is adjusted with the knob on 
the Probe Pulser. The bias should be set each time the Probe 
Pulser is used. 

To set the bias, use the following procedure. 

O scilloscope 
Input 

100-Volt 
Cal ib ra tor 

Output 

0 15-0088-00 
Probe Pu lse r 

Miniatu re-tip 
Probe 

Fig . 1. Correct connection of Probe Pulser and probe to oscilloscope 
calibrator output and vertical channel input. I Shown with a P6045 
FET Probe.) 

CALIBRATION FIXTURES 

1. Connect the Probe Pulser to the oscilloscope Calibrator 
Output and insert the probe tip into the Probe Pulser as 
shown in Fig. 1. 

2. Set the oscilloscope vertical sensitivity to 0.1 V /cm and 
the sweep rate to 0.2 mSec/ cm. 

3. Set the bias control fully counterclockwise and the 
oscilloscope Amplitude Calibrator for a 100-volt square-wave 
output. 

4. Set the time-base triggering controls for a stable dis­
play. With the bias control set fully counterclockwise, the 
tunnel diode will not switch due to insufficient current. How­
ever, there will be a waveform of ;:::::40 mV on the CRT 
screen. This is the calibrator signal feeding through the Probe 
Pulser and not the fast-rise output signal that occurs when 
the tunnel diode is switching. 

5. Slowly turn the bias control clockwise until the wave­
form amplitude suddenly increases to about 3 divisions (see 
Fig. 2A). This indicates the tunnel-diode is now switching 
and this is the proper bias setting. 

Fig. 2. Typical oscilloscope displays of pulse waveform: IA) With 
sweep rate of 0 .2 µs/cm; (8) With sweep rate of 20 ns/cm. 

Output Waveforms 

Figs. 2A and B show typical output signals from the Probe 
Pulser at slow and fast sweep rates. The small intensified 
portion at the base of each pulse shown in Fig. 2A is the 
relatively slow-rising portion of the calibrator signal just 
before the tunnel diode switches. When measuring risetime, 
only the fast-rise portion of the output signal is used (see 
Fig. 28). 



1000 MC TIMING STANDARD 
<Part No. 017-0019-00) 

SERIAL MODEL NO. o 
T 

Accuracy within 0.05%. 

REF. 

NO. PART NO. EFF. DISC. Y. DESCRIPTION 

1 132-0102- 00 
2 132-0011-00 
3 132-0001-00 
4 210-0547-00 
5 132-0014-00 
6 205-0037-00 
7 132-0015-00 
8 132-0007-00 
9 354-0151-00 

10 316-0102-00 

2 CONNECTOR, outer 
4 INSULATOR 
2 NUT, coup ling 
1 NUT, tunning 
2 SLEEVE, transition 
1 SHELL 
2 CONTACT ASSEMBLY 
2 SNAP RING 
1 RING 
2 RESISTOR, lK, 1/4 w, 10% 

FOR REPLACEMENT PARTS 
NOT LISTED CONTACT YOUR 
TEKTRONIX FIELD OFFICE. 

PUBLICATION NO. 

062-0158-00 
August 1965 

(Revised} 

~ ©. 1964, Tektronix, Inc., 
~ All rights reserved. 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

1 358-0089-00 
2 210-0474-00 
3 358-0127-00 

166-0201-00 
4 309-0336-00 
5 131-0058-00 

------
6 200-0026-00 
7 131-0196-00 
8 406-0647-00 

CURRENT PROBE CAL ADAPTER 
(Part No. 017-0031-00) 

SERIAL MODEL NO. a 
T 
Y. EFF. DISC. 

EARLY 
EARLY 
LATE 

1 BUSHING, outer 
1 NUT 
1 BUSHING, assembly 
1 TUBE, sleeve 

DESCRIPTION 

1 RESISTOR, 24.5 K, 1/2 w, prec. 1% 
1 CONNECTOR, cable end, coax. 

Consisting Of: 
1 COVER, coax. connector 
1 CONNECTOR, coax., 1 contact 
1 BRACKET, calibrator 

CALIBRATION FIXTURES 

PUBLICATION NO. 

062-0145-00 
August 1965 

(Revised) 

©, 1964, T ektronix, Inc., 
A ll rights reserved . 



"N" UNIT CAL ADAPTER 
(Part No. 017-0074-00) 

The N UNIT CAL ADAPTER is a precision voltage divider to provide a constant i nput voltage of 
40 mv for calibrating the gain of the Type N SampHng Plug-In Unit. 

To use, connect the CAL ADAPTER to the oscilloscope AMPLITUDE CALIBRATOR output and the GR 
connector at the other end of the short cable to the SIGNAL INPUT connector on the N unit. 
Set the AMPLITUDE CALIBRATOR output to 50 volts. Connect a lead from the TO EXT. HORIZ. 
connector on the Type N unit to the HORIZ. INPUT connector on the oscilloscope. Set the 
HORIZONTAL DISPLAY switch to EXT. X 1. 

Turn the TRIGGER SENSITIVITY on the Type N unit to the FREE RUN position. Two lines of dots 
should now appear on the crt. Center the two lines, using the VERTICAL POSITION control on 
the Type N unit. Adjust the Type N GAIN SET capacitor, C 6417, until the two traces are 4 cm 
apart. 

PUBLICATION NO. 

~ 
® 

061-0957-00 
August 1965 

(Revised) 

©, 1963, Tektronix, Inc., 
All rights reserved. 

CALIBRATION FIXTURES 



067-0500-00 CALIBRATION FIXTURE 
CRT Deflection Capacitance Normalizer 

1.c· CRT DEFLECTION 

'' 

CAPACITANCE NORMALIZER 
FOR 

560 SERIES OSCILLOSCOPES 

067- 500 

SERIAL 

APPLY POSITIVE 
SQUARE WAVE 

50 TO 100 VOL TS 

TEKTRONIX. INC .. PORTLAND. OREGON . U . S. A . 

The 067-0500-00 is a plug-in unit for normalizing CRT deflection 
plate capacitance in 560 series instruments. 

The plates of the Schmitt multivibrator are connected push-pull 
through time constant dividers to the CRT deflection plate. A 
square wave approximately 5 cm high will be displayed when a 
positive square wave of 50 to 100 volts in amplitude is applied to 
the input. C760 or C761 in 560 series scopes is adjusted for 
optimum square corner (no rolloff or spike) to achieve normalization. 

CALIBRATION FIXTURES 



C.131 
1.8-13 

Cl32. 
14 

NPO 
11 

~133 
~l?>l 
IOOJC. 

1001<. 1°1o 
1°7o 

--
~ f-fl• 

C.. I ?,tO 
1.~-1~ 

C.1~1 
14 

tJPO 
21 

R-1~1 
!'138 1001(. 
1001'. I °lo 

I °70 
--

I~ V/15 
2. 5 

10( • +300V 

IS( • +1'2.SV 

2.3( • -IOOV 

24( II· 

TYPE 067-0500-00 

+300V 

+300V 

~1'2.S 
S.SI<-

VI/SB 
~6DJ8 " 

1'128 
3.~M 

~119 
IM 

-IOOV 

8 

NOTE.: 

+300V 

fWtO 
IOI<-

+l'l'SV 

Clt8 
12. 

0115 

!'118 
I S8tc. 

1"7o 

1970 

ALL ~ESISTO~S 5.,o 
EXCEPT A.'O NOTED. 

I' II S 
5. 51<-

+300V 

f'IOS 
"o.4ic. 

ICJlo 
JIOI 

~!INPUT I 
[2.IOG -
1001<-

l"To 

-1oov 

CALIBRATION FIXTURES 



067-0501-00 CALIBRATION FIXTURE 

REF. 

NO. PART NO. 

067-0501-00 

SERIAL/MODEL NO. o 
T 

EFF. DISC. Y. 

CALIBRATION FIXTURES 

Strobe/Trigger Extender Cable 

DESCRIPTION 

The TYPE 067-0501-00 is an assembly of five 50 ohm 
impedance cable. The cables are equipped with suitable 
connectiors to extend the strobe lines and the blocking 
oscillator trigger signal cable from the timing unit, 
when the 4S2 or 4S3 is operating with the Gate board 
extended. 

DATA SHEET NO. 

062-0807-00 

FEBRUARY 196 7 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 



067-0502-00 CALIBRATION FIXTURE 
Standard Amplitude Calibrator 

X100 AMPLJFIEA 

DC LEVEL 

EXT 
INPUT 

P 0 K Tl A ti 0 

F 
UNKNOWN 

OU'tPUT 

The 067-0502-00 provides accurate (±0.25%) voltage for use in cali­
brating Tektronix Equipment. Amplitudes are available from 0.2 mV 
to 100 V in a 1-2-5 sequence. An electomechanical switching circuit 
provides for comparison between one of the internally generated volt­
ages and an unknown external voltage. A general-purpose amplifier 
with a voltage gain of 100 (±1%) is built into the instrument for 
the purpose of accurately amplifying low-level signals prior to 
measurement of those signals. 

CALIBRATION FIXTURES 



067-0502-00 

STANDARD AMPLITUDE CALIBRATOR 

General Information 

The 067-0502-00 STANDARD AMPLITUDE CALIBRATOR provides accurate (±0.25%) 
voltages for use in calibrating Tektronix Equipment. Amplitudes are 
available from 0.2 mV to 100 V in a 1-2-5 sequence. Waveforms available 
are: 

1. Positive-going 1-kc square wave. 

2. Positive and negative-going 6.0-Hz square waves. 

3. Positive DC voltage. 

4. Negative DC voltage. 

5. Currents to 5 mA DC, also 1-kc square-wave currents in the 
current loop. 

An electromechanical switching circuit provides for comparison between 
one of the internally generated voltages and an unknown external voltage. 
A general-purpose amplifier with a voltage gain of 100 (± 1%) is built 
into the instrument for the purpose of accurately amplifying low-level 
signals prior to measurement of those signals. 

Dimensions: Approximately 5" H x 8" W x 12 1/4" D 

Weight: Approximately 11 pounds 

Operational Data 

Input Connector 

Input to XlOO amplifier. Maximum input signal voltage (AC or DC 
coupled) is 0.5 volts p-p. Maximum input DC voltage (AC coupled) 
is ± 600 volts. 

Output Connector 

Output of XlOO amplifier. ± 50 volts, ± 5 mA maximum output. 

DC Level Control 

Adjusts output DC level of XlOO amplifier. 

AC-DC-Gnd Switch 

Selects coupling mode of XlOO amplifier. 

Amplitude E Switch 

Selects amplitude of 1-kc square wave, + and - DC, and connects 
5 mA current loop. 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

067-0503-00 

067-0503-00 CALIBRATION FIXTURE 

v 

Precision DC Divider 

PRECISION DC DIVIDER 
(

INfTIALLY CALIBRATED AT 23•c) 
ACCURACY :!: .011' 

067-503 
VOLTAGE OUTPUT 

/LOAD WITH) 
I 1Mll t11' 

.aGND SERIAL ,ez. 
TEKTRONIX. INC .• PORTI.AND. OREGOM. U. S . A, 

SERIAL/MODEL NO. 

EFF. DISC. 

Q 

T 
Y. DESCRIPTION 

This Precision DC Divider is used to test the attenuation 
ratio of the input attenuators in such plug-ins as the 
W unit, lOAl and 3A7. 

DATA SHEET NO. 
062-0809-00 

FEBRUARY 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



TYPE 067-0503-00 

Purpose 

The Tektronix Precision DC Divider is primarily used to calibrate DC 
attenuations of 10:1 and 100:1 attenuators. 

Performance Requirements 

Ratio Accuracy 

Temperature Coefficient 

Voltage Input 

Input Resistance 

Maximum Input Voltage 

Operation Instructions 

± 0.01% (when loaded with 
1 megohm ± 1%) 

10 ppm/ 0c, 20°c to 35°C 

Approximately 10 k 

± 40 VDC 

A stable source of DC voltage is connected to the voltage input 
binding post and to the input of the attenuator to be tested. 
Outputs of the two attenuators are then compared. Comparison is 
normally accomplished using an oscilloscope with a differential 
amplifier, such as a Tektronix Type 547 Oscilloscope with a Type 
W Differential Comparator. Error of the attenuator under test 
is the deviation from the correct output voltage expressed as a 
percentage of the output voltage. 

Maintenance 

The Precision DC Divider accuracy should be checked after each 
year of use. The accuracy is checked as follows: 

CALIBRATION FIXTURES 



TYPE 067-0503-00 

SCHEMATIC 

VOLTAGE INPUT 

~--

9 kn 

10:1 

VOLTAGE OUTPUT 

900 n 

100:1 

100 n 

CALIBRATION FIXTURES 



067-0505-00 CALIBRATION FIXTURE 
Series 6 Extender 

,! 

0 ----------- -
-~---~------ 0 

Primarily, this extender is for use with the RM567 when calibrating 
or trouble shooting the 6Rl/6RlA. It has a locking mechanism at each 
end which secures the extender to the RM567 at one end, and the 
6Rl/6RlA to the other end. The RM567 may then be tilted in any of 
its tilt lock positions, if equipped, if there is sufficient clearance 
in front of the console to do so. 

It may also be used in place of flexible extenders in the cabinet 
models. 

CALIBRATION FIXTURES 



REF. 

NO. 

067-0507-00 CALIBRATION FIXTURE 

-

SERIAL/MODEL NO. a 
T 

PART NO. EFF. DISC. Y. 

067-0507-00 

0 Unit Grid Current Checker 

GRID CURRENT 

CHECKER 

067·-0507-00 

TEKTRONIX, INC. 

DESCRIPTION 

The 067-0507-00 Grid Current Checker is used to measure 
gird current in the type 0 and other operational amplifiers. 
It matches, in size and general appearance, the Gating, 
Compensating Leakage Current and other adapters currently 
in use with operation amplifiers. Banana-plug connectors 
in back allow the unit to be plugged into the operational­
amplifier front panel. 

DATA SHEET NO. 
062-0811-00 

FEBRUARY 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



OPERATING INSTRUCTIONS 

1. Plug the unit into the operational amplifier channel to 
be tested. 

TYPE 067-0507-00 

2. Set the sweep rate at the value specified in the Instruction 
Manual Calibration Procedure for the operational amplifier. 

3. Obtain a free-running trace and, when the spot crosses a 
preselected graticule line, press the desired button. 

4. Compute grid current by the formula: 

Ig EC/T 

E Amplitude of the wave form at the end of a prescribed period. 
C Capacitance being charged (0.001 tnF)~ 
T Time over which the amplitude rise is checked. 

See Instruction Manual Calibration Procedure for time and 
amplitude values. 

CALIBRATION PROCEDURE 

Check for correct internal wiring, correct capacitor value and 
tolerance and proper operation of the push-button switches. 

CIRCUIT DESCRIPTION 

Sl and 82 are normally closed, holding Cl and C2 in a discharged 
condition. When one of the push-button switches is pressed, 
grid current charges the associated capacitor generating a saw­
tooth waveform representing amplitude versus time. 

Sl ( -grid ) 

• 
--c:J------: 

I 

Cl I 
I 

.001 mf ± 0.251. ( both ) 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

067-0508-00 

067-0508-00 CALIBRATION FIXTURE 

SERIAL/MODEL NO. 

EFF. DISC. 

50 ohm Amplitude Calibrator 

50 fl 
AMPLITUDE 

CALIBRATOR 
067-508 

PWR SUPPLY 
2 .0V 

~' i ""'""' 

"" ~· "} 
"'- n, 

OPERATE:_ ru 

Q 

T 
Y, 

1 2 

2.0 

VOLTS 
,12 

,03 

,012 

POWER ON 

0 
OUTPUT 

SfR IAL 

TRIGGER 
OUTPUT 

TEKTRONIX INC PORllA NU, OREGON V S A 

DESCRIPTION 

This calibrator provides a source of voltage the 
overall accuracy of which is 0.25%, from an accurate 
50 ohm source resistance to calibrate equipment having 
a characteristic 50 ohm impedance. It may also calibrate 
a high impedance input provided the unit is accurately 
terminated in total load of 50 ohms. 

CALIBRATION FIXTURES 



067-0508-00 CALIBRATION FIXTURE 

General Information 

Purpose 

Provides an accurate source of voltage for the calibration of equipment 
having 50 n input impedance. It may also be used to calibrate equipment 
with high input impedance provided the unit is connected through an 
accurate 50 n termination. 

Accuracy 

Overall accuracy is ±0.25%, enabling precision amplitude calibration 
of devices such as digital readout units or for precision comparision 
measurements. 

Pretrigger 

A pretrigger is provided sufficiently delayed to allow zero % zone 
levels to be established on Type 6Rl which does not have adjustable 
zero % zones. 

Output Level 

Output level is adjustable from 12 mV to 1.2 V in increments designed 
to provide a constant 6 division display as the attenuators of the 
system are changed. A 2 V level is provided to check linearity of a 
sampling bridge. 

A test point is provided on the front panel to check the level into 
the attenuator. 

Power Source 

Normally operates on 115 or 230 VAC, 50 to 60 Hz. Additional taps are 
provided on the transformer primary to shift the design-center line voltage 
in 10 V increments from 105 to 125 V from 210 to 250 V. 

Operating Instructions 

1. Connect power cord to correct line voltage (factory wired for 115 
volts unless otherwise indicated by rear panel decal). 

2. Connect TRIG OUT to test-scope external trigger input jack. 

3. Connect OUTPUT to test-scope vertical input. 

NOTE: If test-scope vertical input is high impedance, terminate 
the cable in 50 n (± 1% accuracy required or better). 

CALIBRATION FIXTURES 



067-0513-00 CALIBRATION FIXTURE 

l 

Tunnel Diode Pulse Generator 

061-0513-00 CALIBRATION FIXTURE 
TUNNEL DIODE PULSE GENERATOR 

- SERIAL 

PULSE OUTPUT 

RISITIMI < "' JO pSlC 
AMPLITUOI "' - 0 .4V 
(ON ;., -0.2 V &ASE) 
LE NGTH~ 35 nS£C 

CAUTION : ON 
JORN Off 

TO 1xnNO 
BATTERY llfl 

PRETRIGGfR 

::::: OOrtSiC fAILY 
z +0.4V IN SO U 

PORTLAND, OREGON. v.s.A. 
TEKTRONl:X~, l:N:C·,~=---------=== 

The T.D. Pulse Generator is battery powered and is used for checking 
step function response of all Tektronix sampling systems. It can 
be used with a minimum of correction due to pulse source risetime 
limitations. 

The repetition rate varies from about SO kHz to lSO kHz depending 
on battery condition. A pretrigger (60 to 70 ns early) permits 
operation in conjunction with any of the Tektronix sampling systems. 

The pulser contains a transistor blocking oscillator, an ad­
justable diode drive clamp, a delay cable and a 100 mA, 6 pF, 
tunnel diode mounted in a special coaxial air-line environment. 
The free-running blocking oscillator generates a SO ns pulse 
with adequate amplitude to drive the clamp, tunnel diode and pre­
trigger. The diode clamp, 30 ns from the blocking oscillator, 
flattens the negative-going pulse at a level just sufficient to 
switch the 100 mA tunnel diode which is another 30 ns past the 
clamp. This device draws about 1.5 mA. It is difficult to pre­
dict battery life but approx. 1 month can be expected with average 
use. New batteries may be ordered on a standard order form. 

CALIBRATION FIXTURES 



() 

> r-

o:J 
:::::a 

~ 
0 z 
,, 
x 
-I 
c 
:::::a 
m 
c.n 

Q/00 

ftl 01 
G:>SOt<-

TllO 

3T 

C...100 
160 

.:. 

1~f~~ 
~Cl 12-l~q(;.f' l 
~<oOnS EA.fl..\..Y 
~ +o.4v IN c;o..n.. 

F-109 
It<-

C.104 *.001 

'":" 

JZ..10, 
SI 

010"7 

';O VIS 
Dt=\..P..V 

1-1 Nt:. 

~114 

'"-

.:. 

{l-1'2.I 
'l.'l~ 

l I ., < ~1'2.0 
50K 

~ 

!'-11-'2.. 
I 'lO 1£. 

30¥\S 
DE\..A.Y 

1-1 NE: 

...__, Df'.IViHJ 

1~,,:;-1 

~ Cf 41 ~ 
L __ _J 

INC:.IDE _) 
C.ON N =c. lo I' 

~ 

~10'2. 
'51 

"T' C.10'2... 
-t0.'2... &:,Wl'l.9 _ / 

~~-1-1.?V 

-21.sv 

c. 11.~ 
1·;·1Hll 

~l'LS 

1: 

CALIB~AllON fl)(TUf2..~ oe:,1-os1:i-oo 

llH1·c..tici 7.s 

Bl'l9 

~ 

TUNNEL DIODE PULSE C:.IE.NE\<.P..:TOf<.. 

'D 11~ 
r,"4~\D!; 

P..I ~L-\NIS. 

;on. P..l(t..\..INE. 

-:-

lpu1-c;c;: o~~ 
!Ll<t.E:T I ME: <. ~ ?o 10 ~ 
~MP\...liUD~ ~ - 0.4\1 
(oN ~ -0.')..V ~AC:.F:) 
\..E~G!IH > ~S ~c; 

~ 
~ 
tzl 

0 

°' " I 
0 
V1 
I-' 
w 
I 

0 
0 



REF. 

NO. 

067-0514-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. o 
T 

PART NO. EFF. DISC. Y. 

067-0514-00 

AC 0- l 0 V Meter 

DESCRIPTION 

The 067-0514-00 AC Meter is an iron-vane, 0 to 10 volt, 
accurate voltmeter for use in testing and adjusting fil­
ament voltages from the saturable reactors in Tektronix 
Type 517/517A and Type 555 oscilloscopes. 

Accuracy 
±2% of full scale 

DATA SHEET NO. 

062-0816-00 

FEBRUARY 196 7 

Copyright © 1967, 
Tektronix, Inc. 

. A ll R ights Reserved. 

CALIBRATION FIXTURES 



REF. 

NO. 

067-051 5-00 CALIBRATION FIXTURE 
Precision 50 ohm termination 

SERIAL/MODEL NO. a 
T 

PART NO. EFF. DISC. Y. DESCRIPTION 

067-0515-00 A 0.1% 50 n termination for use with instruments that 
have outputs into 50 n. This calibration fixture is used 
to accurately terminate an instrument into 50 n to check 
its calibration accuracy. Its primary intent is for use 
with the 067-0508-00, the 50 n Amplitude Calibrator, but 
can also be used for checking the calibrator outputs into 
50 n, of the Type 546, 547, 567 etc. 

DATA SHEET NO. 
062-0817-00 

APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

067-0518-00 

067-0518-00 CALIBRATION FIXTURE 

f 

SERIAL/MODEL NO. 

EFF. DISC. 

Q 
T 
Y. 

Harmonic Modulator 

-~ 
MODULATION 2 

VARIABLE 

I 
MOOU 
HARM 
OUT 

• . MODU r 
Rf fAEO 1 ......,, 

MODIJ . I 
FREO 2. . ·. ..• . .. · .. · .· · . . ..· . . 

I . 

J --tj Li 

DESCRIPTION 

Permits simultaneous modulation of an R.F. signal with 
Tektronix Type 105 Square Wave Generator and with an audio 
generator. Reconnnended R.F. source is Tektronix Type 180A 
Time Mark Generator. The unit is designed to provide test 
signals for Tektronix LlOA Spectrum Analyzer (will also be 
usable with future models). Modulated harmonic frequencies 
to 900 me, with amplitudes of a few microvolts, have been 
produced although this is considerable beyond the normal 
output requirement. A 60-mc trap may be switched in to 
attenuate any 60-mc component (center I.F. frequency of 
LlOA is 60-mc). Effective attenuation of this trap depends 
on the setting of RF VARIABLE control. 

DATA SHEET NO. 

062-0819-00 
FEBRUARY 196 7 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



TYPE 067-0518-00 
Characteristics 

MODU FREQ 1 & 2 Inputs 

Coupling 
Maximum Input Voltage 

RF Input 

Coupling 
Maximum Input Voltage 

Operating Instructions 

DC 
±10 v 

AC 
20 volts p-p 

Test configuration for displaying modulation on a carrier with 
Type LlOA Spectrum Analyzer. 

I Audio Gen Modu 
Freq 
2 Modulated harmonics 

Modu to LlOA 50 Ohm input I Type 180A FR Harm (use 51 db RF 
Out attenuator in LlOA) 

Type 105 50 Ohm Modu 
Term Freq 

1 

Set the audio generator and the Type 105 for the desired modulation 
frequencies. Set Type 180A for lµsec, 5 me, 10 me or 50 me. The 
mixing ratio is varied by changing the amplitude of the outputs of 
two modulation generators 

Ll 
1.1 mH 

Rl 
1.5 K 

1/4 w 107. 
L2 

1.1 mH 

C2 
25 pF 

05 
1N3712 

R9 
22 K ClO 

._._ _ ____ __, ~-----l ~ = 1/4 W 107. 100 pF JlO ~ 

Y OUT 

SW 4 

I 

J 4 : OFF 

~n...--~ 
.Y_ ON 

CALIBRATION FIXTURES 

L4 
1.1 mH 

R4~ lK 

VARIABLE 

(MODU 2) 

OUT 
SW 8 I I 

I 0 IN 1' 
'""'TRAP I- --~--- --- -~~.~~· 

_1"·~ 



LOAD/PULSER 

(Part No. 067-0521-00) 

067-0521-00 CALIBRATION FIXTURE 
LOAD/PULSER FOR 530-540-550 SERIES 

SERIAL 

1/16 AMP 

VARIABLE 

VERTICAL 
POSITION 

AMPLITUDE 

(LOAD POSITIONS ONLY) 

2 

EXT 
INPUT 

8 

TEKTRONIX, INC. 

TEST FUNCTION 
2 

REPETITION RATE 
MED 

PORTLAND, OREGON, U.S. A. 

CALIBRATION FIXTURES 



Type 067-0521-00 

CHARACTERISTICS 

General Description 

The 067-0521-00 Plug-In Test Unit is a versatile single-unit 
calibration aid for use with all Tektronix 530-, 540-, or 550-
Series Oscilloscopes using 1-series or letter-series vertical 
plug-in units. The 067-0521-00 is the only plug-in unit re­
quired for calibrating the oscilloscope.* An input connector 
on the front panel permits application of various external 
signals for use in the calibration procedure. The self-con­
tained unit also generates fast-rise pulses for checking rise­
time and adjusting transient response of the oscilloscope 
vertical amplifier. 

The 067-0521-00 permits checking the regulation limits of 
the power supplies. In addition, the unit provides a quick 
check of the oscilloscope alternate sync pulse and chopped 
blanking circuitry. For oscilloscopes capable of displaying 
two time-base signals alternately, the 067-0521-00 checks the 
ability of the alternate-sweep switching circuitry to lock 
the channels of a dual-trace plug-in unit to the time bases 
of the oscilloscope. 

ELECTRICAL 

TEST FUNCTION SWITCH POSITIONS 

LOW LOAD, HIGH LOAD 

These two switch positions permit the oscilloscope low­
voltage power supplies to be loaded from minimum to 
maximum. External signals applied through the EXT INPUT 
connector on the front panel of the unit will be ac-coupled 
to the oscilloscope vertical amplifier to produce a normal 
display. Maximum vertical sensitivity of the 067-0521-00 
oscilloscope combination is about 0.5 volt/ cm when the 
VARIABLE control is set fully clockwise. 

GAIN SET 

Permits setting the gain of the oscilloscope vertical ampli­
fier with a 100-volt calibrator signal applied to the EXT 
INPUT connector. The 250-to- l fixed ratio of this position 
attenuates the 100-volt signal to 0.4 volt which produces 
4 cm of vertical deflection on the crt when the oscilloscope 
vertical amplifier gain adjustment has been accurately set. 

COMMON MODE 

Checks common-mode rejection ratio and de balance of 
the oscilloscope vertical amplifier. 

ALTERNATE 

Checks operation of the alternate-mode synchronizing 
circuits in the oscilloscope. Also permits checking for proper 
sweep slaving in oscilloscopes having two time bases that 
can be displayed alternately. Any external signal applied 

• A sine-wave bandpass check of the system cannot be made by 
applying an external high-frequency sine wave through the plug-in 
test unit. 

CALIBRATION FIXTURES 

to the EXT INPUT connector is attenuated approximately 
1000 times by an internal attenuation network. 

CHOPPED 

Checks oscilloscope for proper operation in the chopped 
mode. Free-running rate of the dual-trace switching multi­
vibralor is approximately 100 kc. Any external signal ap­
plied to the EXT INPUT connector is attenuated approxi­
mately 1000 times by the internal attenuation network. 

+PULSE, - PULSE 

In these two switch positions, a fast-rise squarewave with 
a risetime considerably less than the vertical deflection sys­
tem of a Type 546 or 547, is applied to the oscilloscope. 
Maximum amplitude of the pulse display for either + or -
polarity is approximately 6 cm with the AMPLITUDE control 
set fully clockwise. Minimum amplitude is approximately 2 cm. 

Other Controls and Connectors 

REPETITION RATE 

Three-position switch to select the approximate pulse 
repetition rate of the Pulse Generator circuit: LOW -
5 kc, MED - 100 kc, HIGH - 600 kc. 

AMPLITUDE 

Adjusts amplitude of the pulse applied to the oscilloscope 
vertical amplifier when the TEST FUNCTION switch is set 
to + PULSE or - PULSE. 

VARIABLE 

Controls amplitude of the signal applied through the 
EXT INPUT connector when the TEST FUNCTION switch is 
set to LOW LOAD or HIGH LOAD. The minimum deflec­
tion factor is 0.5 volt/ cm with the VARIABLE control set 
fully clockwise. 

VERTICAL POSITION 

Controls vertical pos1t1oning of the trace or display on 
the crt in all TEST FUNCTION positions except COMMON 
MODE. 

+ 225V Pushbutton 

Provides +225 volts at the front-panel output banana jack 
when the pushbutton is pressed . 

+ 225V Banana Jack 

Convenient source of +225 volts for checking de balance 
of each stage of a distributed vertical amplifier. With the 
voltage output connected to the cathodes, the stage is 
effectively cut off when the +225 V pushbutton is pressed. 



•• 
•• 

EXT. 

TEST UNIT 
<Part No. 067-0523-00) 

067-0523-00 CALIBRATION FIXTURE 

LOAD 
LOW 

DISPLAY 
SELECTOR 

FOR TYPE 580 SERIES 

SERIAL 

POSITION 
RANGE ADJ. 

CAL. 
REFERENCE 

PULSER --------.... 

VERTICAL 
POSITtON 

INPUT AND TURN OFF PU LSER 
ALT. SYNC TO EXTEND 

OPERATING 
POSITIONS 

t 
--UP -

EXT. 
INPUT 

TEKTRONIX, INC. 

MERCURY SWITCH llfE 

POWER 
LINE 

e 
SCOPE AMPL. 

BALANCE CHECK 

• 
PULSER 

FREQUENCY 

PORTLAND, OREGON, U. S. A. 

CALIBRATION FIXTURES 



Type 067-0523-00 

CHARACTERISTICS 

General 

The Type 067-0523-00 Plug-In Test Unit is a calibration 
aid for use with Tektronix 580-Series oscilloscopes. The unit 
provides a reference signal for setting the oscilloscope verti­
cal amplifier gain, a fast-rise voltage step for adjusting 
oscilloscope vertical amplifier transient response, and a load 
bank which loads the oscilloscope power supplies over their 
full current range. The Type 067-0523-00 allows a check of 
the DC balance of the oscilloscope vertical amplifier. It may 
also be fed external signals which might be used in calibra­
tion procedures. 

580-Series oscilloscope vertical amplifiers that have been 
calibrated with the Type 067-0523-00 have a uniform transie·nt 
response. The amplitude calibration signal has a long-term 
amplitude stability. The amplitude signal circuit is driven 
by the dual-trace alternate sync pulse generated by the 
oscilloscope. The dual-trace display shows the presence of 
the sync pulse. 

Calibration Reference Signal 

A 200-millivolt signal for adjustment of vertical amplifier 
gain. Signal level is switched by the alternate trace sync 
pulse from the oscilloscope sweep generator. Signal ampli­
tude can be checked at front-panel jacks. 

Pulser 

Provides low distortion square-wave pulse with a risetime 
considerably less than the response time of the vertical 
amplifier in a 580-Series Oscilloscope. Pulse amplitude con­
tinuously adjustable to either plus or minus 4 centimeters 
deflection. Repetition rate adjustable from about 550 to 750 

CALIBRATION FIXTURES 

pulses per second. Pulser maintains risetime without need for 
circuit adjustment. 

Scope Amplifier balance check 

Connects input leads to oscilloscope vertical amplifier to­
gether. The resultant deflection shows any overall de im­
balance of the scope vertical amplifier. 

Power Supply Load 

Provides low, normal, and high loading of oscilloscope 
power supplies. Range corresponds to the range of cur­
rents available from power supplies. Allows check of ripple 
and regulation of each power supply. 

Display Selector 

A three-position switch which selects the 200 mv calibration 
signal, pulser, or external input to the oscilloscope. 

Power Line Indicator: 

Lights when line power is present at pins 12 and 13 of 
the plug-in interconnecting plug. 

Mechanical Construction 

Aluminum alloy chassis. Aluminum alloy anodized front 
panel. 



REF. 

NO. PART NO. 

067-0529-00 

067-0529-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. 

EFF. DISC. 

0 
T 
Y. 

Precision Divider 

DESCRIPTION 

A 1000:1 Divider for use with Standard Amplitude 
Calibrator (067-0502-00) to extend range of output 
voltage to amounts less than 200 microvolts. Accuracy 
of divider ±0.2% 

DATA SHEET 

NO. 062-0821-00 

DATE MARCH 1968 (R; 

CO PYRIG HT @ 1967 
TE KT RON IX I NC. 
ALL RI GHTS RESE RVE D 

CALIBRATION FIXTURES 



067-0530-00 CALIBRATION FIXTURE 

REF. 

NO. PART NO. 

067-0530-00 

SERIAL MODEL NO. a 
T 

EFF. DISC. Y. 

CALIBRATION FIXTURES 

3 Pin Adapter Cable 

DESCRIPTION 

An adapter cable for use between BNC 
source of calibrator signal and input to 
three-pin Cannon connector, such as used 
on Type E Plug-in and Type 122 Amplifier. 



REF. 

NO. 

067-0531-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. a 
T 

PART NO. EFF. DISC. Y. 

067-0531-00 

4 Pin Adapter Cable 

DESCRIPTION 

An adapter cable for use between BNC 
source of calibrator signal and input to 
four-pin Cannon connector, such as used on 
Type 2A61 Plug-in Unit. 

CALIBRATION FIXTURES 



067-0532-00 CALIBRATION FIXTURE 
Constant Amplitude Signal Generator 

The Tektronix Type 067-0532-00 Constant Amplitude Signal Generator produces 
sinewaves whose amplitude remains constant as the frequency is varied. Output 
frequency is continuously variable from 65 to 500 MHz. The amplitude of the 
above mentioned sinewaves is referenced to the amplitude of a 3 MHz sinewave 
also available at the output connector. Output amplitude is continuously 
variable from 0.5 volt to 2.5 volts peak to peak into 50 ohms . The output 
amplitude is in 0.5 volt steps from 0.5 to 5.0 volts into 50 n. It is also 
continuously variable from 0.5 volts to 5.5 volts. The output remains con­
stant amplitude from 0.5 volts to 5.5 volts from 65 MHz to 300 MHz, and con­
stant amplitude from 0.5 volts to 2.5 volts from 300 MHz to 500 MHz. Cable 
loss and standing wave errors are essentially eliminated. The amplitude is 
regulated at the generator end of a 50 ohm resistor physically adjacent to 
the output connector. The output connector, 50 ohm resistor, and amplitude 
detector are at the end of an attached 42 inch cable. 

CALIBRATION FIXTURES 



CHARACTERISTIC 

FREQUENCY ACCURACY 

AMPLITUDE ACCURACY 

AMPLITUDE REGULATION 

HARMONIC CONTENT 

CHARACTERISTIC 

LINE VOLTAGES 

FUSES 

LINE FREQUENCY 

POWER CONSUMPTION 

CHARACTERISTICS 

OUTPUT 

PERFORMANCE 
REQUIREMENT 

Within ±2% of reading 

With ±3% of indicated 
amplitude 

Within ±1% of 3 MHz 
amplitude from 65 to 
300 MHz and 0.5 to 5.5 
volts P-P output. 
Within ±3% of 3 MHz 
amplitude from 300 to 
500 MHz and 0.5 to 2.5 
volts P-P output. 

Typically less than 2% 

POWER REQUIREMENTS 

PERFORMANCE 
REQUIREMENT 

105 VAC, 115 VAC, 125 VAC 
210 VAC, 230 VAC, 250 VAC 

Type 3AG 0.4 amperes slo 
Type 3AG 0.2 amperes slo 

50 to 400 Hz 

Approximately 25 watts 

TYPE 067-0532-00 

SUPPLEMENTAL 
INFORMATION 

Into a 50 n 
1% load 

Into a 50 n 
1% load 

SUPPLEMENTAL 
INFORMATION 

Center values 
available by rear 
panel switch and 
transformer wiring 

blo 115 VAC operation 
blo 230 VAC operation 

CALIBRATION FIXTURES 



OSCILLOSCOPE INPUT NORMALIZERS 

Input Normalizers are used for checking or ad­
justing the input capacitance of oscilloscopes, or 
oscilloscope plug-in units, where high-impedance 
attenuator probes may be used. In a sense they 
are dummy probes. Input capacitance should be 
adjusted for each setting of the input attenuator 
switch, so that you will not need to readjust an 
input probe each time the attenuator setting is 
changed. 

Different oscilloscope types have different nominal 
values of input capacitance, so require different 
input normalizers. The Instruction Manual for each 
Tektronix Oscilloscope identifies which normalizer 
should be used, if any, and how to use it. 

An instruction manual may ref er to an Input Nor­
malizer as a Capacitance Standardizer, a Time 
Constant Standardizer, or as an RC Standardizer. 
The name was changed to Normalizer to reduce 
confusion about whether they should be considered 
a measurement Standard. The Tektronix part num­
ber was changed at the same time. 

Input Normalizers are not intended to be used to 
determine whether input capacitance is within cer­
tain limits, or whether the RC product of input 
resistance and input capacitance is within certain 
limits. Therefore, they are not intended to be 
measurement Standards. Furthermore, it is not 
advisable to attempt to maintain the input capac­
itance or the input RC time constant on different 
scopes to tight tolerances with the hope of ob­
viating the need to check or adjust a probe when 
it is used with a different oscilloscope. Proper 
probe adjustment should always be checked each 
time a probe is connected to a different oscillo­
scope or plug-in unit. When this practice is 

CALIBRATION FIXTURES 

observed, fewer measurement errors will be made 
than can be prevented by a rigorous program to 
maintain specific tolerance limits. Nor is it ad­
visable to rely on a known input capacitance, mea­
sured at one frequency, to calculate the input load­
ing effects on a signal having a different frequency. 

Most Tektronix Input Normalizers never need to be 
adjusted after they leave the factory. Performance 
is tested each time one is used, and normally 
should be considered adequate as long as the ad­
justable input capacitors in the oscilloscopes have 
sufficient range. 

If readjustment should be necessary, the internal 
resistor should first be measured to be sure it 
is in tolerance. Then the internal variable capac­
itor may be adjusted to produce a square-cornered 
flat-topped response to a square-wave signal on 
an oscilloscope it is designed to be used with, 
in the same way as described in the instructions 
for adjusting scope input capacitance. The response 
of the scope to square waves should first be known 
to be normal, and the input capacitance to the 
scope should be known to be within about five per 
cent of its nominal value at the attenuator setting 
used. It is normal for input capacitance to vary 
slightly from one setting to the next to correspond 
with slight variations of input resistance. A Tek­
tronix Type 130 L-C Meter may be used to measure 
the scope input capacitance. Measurement should 
be made while the scope is operating. When using 
the Type 130, to avoid a small possibility of a 
measurement error due to overdriving the input, 
it is a good idea to use an attenuator setting that 
corresponds to a deflection factor of about 1 volt 
per division. 



REF. 

NO. 

067-0533-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. o 
T 

PART NO. EFF. DISC. Y. 

067-0533-00 

Input Normalizer 20 pf (UHF) 

DESCRIPTION 

An Input RC Time Constant Normalizer for signal inputs 
having nominal 1 megohm x 20 pF input RC time constant 
and having UHF connectors. 

DATA SHEET NO. 

062-0839-00 
APRIL 1967 

~ Copyrig~t © 1967, 
~ T ektronix, Inc. 

• All Righ ts R eserved. 

CALIBRATION FIXTURES 



REF. 

NO. 

067-0534-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. a 
T 

Input Normalizer 24 pf (UHF) 

PART NO. EFF. DISC. Y. DESCRIPTION 

067-0534-00 An Input RC Ti me Constant Normalizer for signal inputs 
having nominal 1 megohm x 24 pF input RC time constant 
and having UHF connectors. 

DATA SHEET NO. 

062-0840-00 
APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



REF. 

NO. 

067-0535-00 CALIBRATION FIXTURE 
Input Normalizer 47 pf (UHF) 

SERIAL MODEL NO. a 
T 

PART NO. EFF. DISC. v. DESCRIPTION 

067-0535-00 An Input RC time Constant Normalizer for signal inputs 
having nominal 1 megohm x 47 pF input RC time constant 
and having UHF connectors. 

DATA SHEET NO. 

062-0841-00 
APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 

• All Rights Reserved. 

CALIBRATION FIXTURES 



067-0536-00 CALIBRATION FIXTURE 

REF. 

NO. PART NO. 

067-0536-00 

SERIAL MODEL NO. a 
T 

EFF. DISC. Y. 

CALIBRATION FIXTURES 

Input Normalizer 12 pf (BNC> 

DESCRIPTION 

An Input RC Time Constant Normalizer for signal inputs 
having nominal 1 megohm x 12 pF input RC Time constant and 
having BNC connectors. 

DATA SHEET NO. 
062-0833-00 

APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 



REF. 

NO. PART NO. 

067-0537-00 

067-0537-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. 

EFF. DISC. 

a 
T 
Y. 

Input Normalizer 15 pf ( BNC l 

DESCRIPTION 

An Input RC Time Constant Normalizer for signal inputs 
having nominal 1 megohm x 15 pF input RC time constant and 
having BNC connectors. 

DATA SHEET NO. 
062-0834-00 

APRIL 1967 

Copyright © 1967, 
Tektronix, I nc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



067-0538-00 CALIBRATION FIXTURE 

REF. 

NO. PART NO. 

067-0538-00 

SERIAL MODEL NO. 

EFF. DISC. 

CALIBRATION FIXTURES 

Input Normalizer 20 pf (BNC) 

Q 

T 
Y. DESCRIPTION 

An input RC Time Constant Normalizer for signal inputs 
having a nominal 1 megohm x 20 pF input RC time constant 
and having BNC connectors. 

DATA SHEET NO. 

062-0835-00 
APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 



REF. 

NO. PART NO. 

067-0539-00 

067-0539-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. 

EFF. DISC. 

Input Normalizer 24 pf ( BNC) 

a 
T 
Y. DESCRIPTION 

An Input Time Constant Normalizer for signal inputs 
having a nominal 1 megohm x 24 pF RC time constant and 
having BNC connectors. 

DATA SHEET NO. 

062-0836-00 
APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 
All Rights Reserved. 

CALIBRATION FIXTURES 



REF. 

NO. 

067-0540-00 CALIBRATION FIXTURE 
Input Normalizer RC = 1 MEG X 33 pf 

SERIAL/MODEL NO. a 
T 

PART NO. EFF. DISC. Y. DESCRIPTION 

067-0540-00 This 33 pF Input Normalizer is a calibration 
aid that is used for checking or adjusting the input 
capacitance of oscilloscopes, or oscilloscope plug-in 
units, where high impedance attenuator probes may be 
used. 

CALIBRATION FIXTURES 



REF. 

NO. PART NO. 

067-0541-00 

067-0541-00 CALIBRATION FIXTURE 

SERIAL MODEL NO. 

EFF. DISC. 

Q 
T 
Y. 

Input Normalizer 47 pf (BNC) 

DESCRIPTION 

An Input Time Constant Normalizer for signal inputs 
having a nominal 1 megohm x 47 pF input RC time constant 
and having BNC connectors. 

DATA SHEET NO. 
062-0837-00 

APRIL 1967 

Copyright © 1967, 
Tektronix, Inc. 

• All Rights Reserved. 

CALIBRATION FIXTURES 



067-0544-00 CALIBRATION FIXTURE 
TEST LOAD UNIT 

The 067-0544-00 Test Unit is a calibration aid for the Type 647A 
or Type RM647A Oscilloscope. The unit is designed to calibrate and 
standardize both the vertical and horizontal circuitry of the Type 647A. 
The 067-0544-00 aids in setting the oscilloscope: (1) power supply 
voltages, (2) horizontal amplifier gain, (3) vertical amplifier gain, 
and (4) vertical amplifier transient response and bandwidth. The 
067-0544-00 aids in checking: (1) regulation of the power supplies 
at the different load conditions, and (2) power supply ripple. In 
addition, an external time-mark signal may be applied to the 
067-0544-00 for calibrating or checking the sweep rates of the 
time-base unit used with the Type 647A. 

CALIBRATION FIXTURES 



ELECTRICAL PARTS LIST-~067-0553-00 

-12 

R4 
1316 n 

--------' 
CT-1 

-12 

Values are fixed unless marked Variable. 

Tektronix 
Ckt. No. Part No. 

Rl 321-0094-00 

R2 321-0094-00 

R3 322-0145-00 

R4 322-0145-00 

Serial/Mode 1 No. 
Ef f Disc 

Resistors 

93.1 n 

93. l n 

316 n 

316 n 

R3 
316 n 

Rl 
93.1 n 

R2 
93.1 n 

Description 

1/8 w 

1/8 w 

1/4 w 

1/4 w 

Pree 1% 

Pree 1% 

Pree 1% 

Pree 1% 

CALIBRATION FIXTURES 



NOTES 

CALIBRATION FIXTURES 




